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6) Solve.
x3 - 2x* - 50=0

v (x* -2x-5)=0

w=0,x=1%Jp
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7) Solve.
X

x*-x?-12=0

(¥ -4)(x*+3)=0
(v-2)(xv+ 2)(x* + 3)
+2, 13
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1) Solve by graphing.

x =-1,1.38, 3.62

-1 N 3.62
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2) The product of three consecutive integers
isn-1,n,and n +1is 210. Write and solve
an equation to find the numbers.

n(n-1)(n + 1) = 210

X=6

-1=
x+1=

(6,210)

5
7





image3.png
3) Factor x° + 343 = (x + 7)(x? - 7x + 49)
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4) Factor 2x3 - 128 = 2(x - 4)(x? + 4x + 1¢
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5) Solve.

x3-8=o0

(x -2)(x®> +2x+4)=0
X=2 Xx=-1%1/3





